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QUESTION 1

Which of the following options is used to define the Ethernet subinterface 0.1.1 as a member of VLAN 100? 

A. [Router-Ethernet0/1.1]vlan trunk vid 100 

B. [Router-Ethernet0/1.1]port dotlq vid 100 

C. [Router-Ethernet0/1.1]vlan dotlq vid 100 

D. [Router-Ethernet0/1.1]vlan default vid 100 

Correct Answer: C 

 

QUESTION 2

What is the correct statement about free ARP? (multiple choice) 

A. By sending a free ARP, you can confirm whether the IP address has a conflict. 

B. The free ARP packet format belongs to the AR request packet. 

C. Free ARP helps update old IP address information 

D. The free ARP packet format belongs to the ARP reply packet. 

Correct Answer: AB 

 

QUESTION 3

The IP address 191.10.196.132 uses a natural mask. What is the network address of 191.10.196.132? 

A. 191.0.0.0 

B. 191.10.0.0 

C. 191.10.48.0 

D. 191.10.96.0 

Correct Answer: B 

 

QUESTION 4

What is the link between the switch and the switch? 

A. Access link 

B. Trunk link 
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C. Hybrid link 

D. ISL link 

Correct Answer: B 

 

QUESTION 5

Regarding RIP route aggregation, what are the following statements correct? (multiple choice) 

A. Route aggregation refers to the route sent by different subnets in the same natural network segment to a natural
mask when sent to other network segments. 

B. RIPv1 does not support route aggregation 

C. Huawei routers use RIPv2 to disable route aggregation by default. 

D. When all subnet routes need to be broadcasted, you can disable RIPv2 route aggregation. 

Correct Answer: ABD 
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